PITT Qube FA-100-AAA-1

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/15 08:37:33



PITT Qube

FA-100-AAA-1

No. mE & - HME B Eff iBE
1 004048301  |FA-100 £-M(120W) PAB-FA1 1 O[ftiBIR T DAT120WICE R
120W
1 004056002 |FA-100 %-4- 100V 1 36,700
2 004007901  |FA-100 #7° tb ADC 1 4,900
3 004002112  [FA-100 nYF A?Dc o34 |1 2,000
25
4 004008005  [FA-100 Ry &K ADC 1 2,000
5 004000502  [FA-100 AFAM4N BS 1 200
6 004000304  [FA-100 #EEIIR Hu‘/% 17%-pA|1 700
=7 f
7 004008102 |FA-100 #° y7° 4" - ZDC 1 1,000
8 004008402  [FA-100 nh2s SUS304 1 300
9 004008501  [FA-100 nh28 1k X & SuUs 1 200
10 004001305 |FA-100 /84 T+ v K ZDC 2 700
11 004008601 FA-100 #/814 7 BHMERE |1 3,700
12 004008701 FA-100 FfEEhs /81 7 1 O|FREEm3ZN 17 38T
13 004001603 |[FA-100 TAT v a NBR 3 1,000(7" vya8@ &>
14  [004001702 [FA-100 FfE 7 v < 140 C3604 3 0
15 004009901 [FA-100 #Z X 4 )L 6x8x10 3 400
MBO0610DU
16 004010001 [FA-100 E#1Z X &)L 6x8x6 3 400
MB0606DU
17 004002004 |[FA-100 4y9ava’ & NBR 1 1,000
18  [004001101  [FA-100 ARFEIN°47° 9-I1° v4y NBR 1 200
19 004002902 |FA-100 FIRFM /N % SUS304 1 200
CSP1/2H
20 004001002  |FA-100 AfE/S 4 7F v b S35C 1 600
21 004001902  [FA-100 #7° £b1° v%y N b3-#6500 |1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/15 08:37:33




PITT Qube

FA-100-AAA-1

No. hE w4 AR - ME ERE T =2
22 004006501 FA-100 13- "L ACEH NBR 1 300
23 005006003 FR-200 AC1-V VCT 1 4,400

0.75S*5Mfii b
DALY -
24 004010102 FA-100 ta-2"Hl4" - I3- FH- 1 700
001AF
25 004002701 FA-100 #l%" -EE & BS 1 200
26 004002801 FA-100 Hl4™ - vy NBR 1 200
27 004002301 FA-100 2 vF#R SS 1 400
28 004002402 FA-100 2 9FN° v4y N bh-#6500 |1 200
29 004010202 FA-100 21vy7° M7 T115A-F 1 1,800
WD1011F
30 004002502 FA-100 ayFtvb BS 6AIIV|1 400
IffE
31 004002601 FA-100 249#31 A NBR 1 300
32 004003602 FA-100 A9F9-l N Wh-#6500 (2 200
33 004010301 FA-100 ON-OFF 7° b-} WD1901 1 200
34 004002202 FA-100 N/ I vty N VE-#6500 |1 200
35 944500002 i B RN T CE-2%#am |1 200
36 940119010 F-ANT VN S MEY 10 1 200
37 004003802 FA-1008FN° v4y N bh-#6500 |1 200
38 004004105 FA-100 "A#F ZDC 1 1,100
39 004004403 FA-100 Abb-MEEF ZDC 1 1,200|66,67 17
40 004004202 FA-100 $-2& ALP 2 500
41 004004305 FA-100 /2" Ik ZDC 1 900
42 004009501 FA-100 #-2 (¢ 20*2M) $p20x2m |1 0
43 008003305 QU-20 #A&3h / XILAK ADC 1 3,000

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/15 08:37:33




PITT Qube

FA-100-AAA-1

No. mE & - HME B Eff iBE
44 |008003403 |QU-20=v@HA R ADC 1 0
45 008001207  [QU-20 ¥-I7" y9a BS 1 700
46 008000704  |QU-20 /3" kAyh SuUsS 1 600
47 008001005 |QU-20 #EED A NBR 1 0
48  |008000506 |QU-20 HEEH A R ADC 1 0
49 008003502  |[QU-20 %vv7° ADC 1 500
50 008001303  [QU-20 7° babn" - SSAY-£ v |1 0

1530 C#EE
51 008000804  [QU-20 /x W 47° EHERE |1 1,300
52 008000903  [QU-20 /A WA7°Yv” SWP 1 200
53 889855030 |[OYY4 P30 NBR70° 1 200
54 (889855006 [OYy4" P6 NBR P6 NBR70° |1 200
55 889855020 |0Yv4° P20 NBR 1 200
56 850819136 [ARERERYRv b 3x12SWR [1 200
M
57 703319050 |[+ZERMAFRNNR IS M3 x 6 SWR |2 200
M
58 |008001601 [QU-20 7° bALN -L¥THR CU M-tV |1 0
1530 C#ES
59 001001506 [SC-20 t#x < PC 1 200
60 005001303 [FR-100 .t X & SPC 1 200
61 004012702 [FA-100K%> ADC 1 1,500
62 888327006 |[CFIE Xtk B 6SK 1 200
63 912706006 [EIVE#HT 62677 1 800
64  |893555003  [#4Iy-Ib SC 3 400
6x16x7
65 889855018 |0Yv4° P18 NBR 1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/15 08:37:33




PITT Qube FA-100-AAA-1
No. i LLE Mg - HE BRI Eff T
66 889855020 |OY»y° P20 NBR 1 200
67 708119019 |V *EE& + /A EEEFHATA" 129" M3 x8 3 200
SWRM =18
=
68 707819037  |NRESHEIATFIRGFNNARY M4 x10SW|4 200
RM 4mA-b
69 707819041 NREEATFREFNhRY M4 x2 0SW|1 200
RM
70 004010401 N FESHIATFIRNE FRhRY M4 x4 5 1 200
71 707819047 |NRESHEATFIRGFNN©RY M5x14SW|8 200
RM
72 004014601 FAZEIN A FhavIbN - 1 200
T0.05 BT
73 004010802  |FA-100 77" Ik TMYT 1A 1 200
74 004001507 |FA-100 myh %15C BRZE 1 3,300
75 004001402  |[FA-100 A m/\x SUS304 2 300
CSP1/2H
77 945300010 |A¥Ea1—X 2A 2 200
77 945300011 Akeai—X 3A 2 200
78 008850211 QU-20 f&m / X7 X 1 11,800/QU-20/2" h)3
79 0048608 20020 H5-A(5" V& © ¢ 20x2M) 1 13,800((4971770-041080)
80 0048583 2002GHE HH-A(0"VE : ¢ 20x2M) 1 24,500((4971770-040830)
00 004010701 FA-100 #4 E-L7 AT 0YT4- |1 0
NO3
00 004800501 FA-100 #° ¥7° AN =53 1 1,100(7,8,9,69,70
00 004800601 FA-100 O#47 = 1 400(8,9
00 004800701 FA-100 FE#SZ/1 T 3 1 7,300(12~16,64x2
00 004804801 FA-100 N> KLY = 24y FH |1 7,5003,22,23,36
00 004800801 FA-100 1-M %3 1 5,500|22,23,36
00 004800901 FA-100 R4 v F 7 X 1 3,300|24~33

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/15 08:37:33




PITT Qube FA-100-AAA-1
No. mE & - HME B Eff iBE

00 004802103 |FA FD k%43 1 1,800(59,60,61

00 004801802  |FA-100 #7° tvh7" b 1 29,700[2,4~16,18~21,59~65,69,
70,74,75

00 008800601 [|QU-20 =Y RBAHA K4 3 1 500(44,47,48

00 008800701  |QU-20 #¥vy7° 43 1 1,300[44,47~49,52,53

00 008800801 [QU-20 7L AL /RR—t v k 1 700|50,56,58

00 014062501 [100WRH-H"¥7" 39 6x8x16/17 |2 1,800

00 005105801  [FR-200 7" 3%%vy7° 2 1,800

00 004057501  [FA-100 7" 394" - 2 2,500

00 004048801  |[FA-100 77vhn" - (3F) SPC 1 8,500

00 004048701  [FA-100 77¥ 1 2,200

00 004020101  [FA-100 73%a7 1 O|t#RI8 T D &120WHICE R

00 004057601  |FA-100 7v3¥a7 120WH 1 20,400

00 004800201 FA-100 A yFty b 1 2,400|A1y7° A 9F,A4vFHy b, A49F3" b, 24
yF-hE 147

00 004014807 |FD - FA - FRAEISCERRERBAZPLY s A5 P12 1 0

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/15 08:37:33




